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A- Language Functions

1) Supply the missing parts in the following dialogue: (6 Marks)

A : How long have you been teaching English ?

B: | workin asecondary school in Cairo.

2- Match (A) with (B): (5 Marks)
a | Iron is much 1 | three brothers.
b | How do you spend 2 | on the door.
c | I have got 3 | heavier than wood.
d | Someone is knocking 4 |school late .
e | Hearrives at 5 | your spare time?
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(B) Comprehension
3- Read the following passage and answer the questions: (8 Marks)

South Africa is a country in the south tip of Africa. There are
plains , mountains and deserts in it. Yet , its land is fertile and
many crops are grown there. The main crops are cotton , fruits
and grains. Seventy-one per cent of the people who live there are
Africans. There are also Asians , mostly Indians , and Europeans
living there. Well-developed industries include fishing , metals,
machinery , chemicals , food processing and clothing. English and
Afrikaans are the official languages there. The main exports are
metals , especially gold , fruits , sugar and textiles. More than 30

million people live in south Africa. Its area is about 1.220.000 km.

A-Answer the following questions:

1 | Where does South Africa lie?
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B- Choose the correct answer:

3 | Most people living in South Africaare ......ccceveeenne .
(D Indians (2 Africans (@ Asians
4 | The land in South Africais ...ccceeeeneens :
@ fertile 2 infertile 3 bad
C-Vocabulary and Structure
4- Fill in each space with a word from the list (4 Marks)
( bus — train — bed — watched — got up )
Last Friday evening , Ahmed ...... (D)eeeenee a long football match on TV
and went to ...... 2)...... very late. Because of this , he ...... 3)...... late
in the morning. He missed the school ...... 4)......
5- Choose the correct answer: (4 Marks)
a | Thisisthe boy ..cccevenennnn. broke the window.
(D who (2 which (3 whose
o I I long is the Nile?
@ How (2 What @ Whose
c | If you play well, you will .................. the match.
@ lose @ win 3 beat
d | He has been playing football .................. 5 years.
@ since (2 for (3 ago
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6- Correct the underlined mistakes: (8 Marks)

a | Tables are made with carpenters.
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D-Writing
7- Write a paragraph of not less than (5) lines on: (5 Marks)

""The person you like most**
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